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QUESTION 1

What is an available command on an Aruba AOS-CX switch that would back up the secondary image to a secure
remote repository? 

A. backup secondary sftp://admin@10.1.1.21/GL.10.04.0003.swi 

B. copy secondary sftp://admin@10.1.1.21/GL.10.04.0003.swi 

C. copy sftp://admin@10.1.1.21/GL.10.04.0003.swi secondary 

D. copy secondary tftp://admin@10.1.1.21/GL.10.04.0003.swi 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

What command will display the debug l2mac events? 

A. show module L2MAC 

B. show debug terminal 

C. show debug buffer module L2MAC 

D. show debug all 

Correct Answer: C 

Reference: https://community.arubanetworks.com/blogs/esupport1/2021/03/17/aos-cx-debugging-mac-address-
movement 
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QUESTION 3

Which two port characteristics must match between LAG interfaces? (Choose two.) 

A. Port number 

B. Duplex 

C. Member ID 

D. Media type 

E. Chassis number 

Correct Answer: BD 

 

QUESTION 4

The customer has 778 developers testing computer games on the network. 

Which two actions resolve Broadcast storms? (Choose two.) 

A. Manually disable the redundant link to immediately resolve the impacted portion of the network. 

B. Utilize Spanning Tree to dynamically disable all redundant links in a segment. 

C. Setting switch ports to half-duplex will resolve Broadcast storms using Carrier Sense Multiple-Access Collision
Detection (CSMA/CD). 

D. Enable single Area Open Shortest Path First (OSPF) on all Layer 2 switches, but do not enable routing. 

E. Utilize Spanning Tree to dynamically block Designated ports in addition to Alternate ports. 

Correct Answer: AB 

 

QUESTION 5

What are two mechanisms supported on AOS-CX 6300 switches used in Multi-active Detection to determine the status
of the Primary member? (Choose two.) 

A. Management interface split detection 

B. Peer switch-based detection 

C. Loopback keepalives 

D. ARP-based 

E. BFD 

Correct Answer: AD 
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